
1:2
(1:1)

(1:5)

1:5

2

1

7

7

43

5

1

A

A

B C

A-A

B

1:1

1

7

10,14

5

11,15

12

3

C

1:1 1

10,14

11,15

7

4

12



Date

Drawn 05.03.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

8 Scheibe

9 Scheibe Ø8,4 ISO 7090 A2

A2

Ø6,4 ISO 7090 A2

8 Zylinderschraube

4 Senkschraube M8x16 ISO 10642

9 Zylinderschraube M8x20 ISO 4762 A2

M6x20 ISO 4762 A2

2 Halterung fuer ESR3Strahltrafo BD310195703P3000 (3) 175x170x6 1.4541 (X6CrNiTi18310)

1 Halterung B SIS3DS070.070.000 (A)

1.4541 (X6CrNiTi18310)

1 Strahltransformator ESR3DT 1050

1.4541 (X6CrNiTi18310)

1 Haltewinkel BD310201683A3000 (3)

1 Haltewinkel vorn BD310196023A3000 (3) 1.4301 (X5CrNi18310)

BD310192983A3000 (3)

1 Strahlrohr STD30003C82.001.000 (3)

Drawing No.

BD�1019426�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

For information
Description

Strahltrafo komplett ESR�DZ 1450

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

3

Rev.3Doc.3No. Date Name

Sheet 1 of 1

















1:2
(1:1)

(1:5)

400

4

3

11,13

1

1:5

268

4
2
1

A

A

1:1

11,13

1

3



Date

Drawn 26.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Date Name

STATUS
Description

Strahltransformator ESR-DT 1050

Copying of this Document, and giving it to others and the use 
of communication of the contents thereof, are forbidden 
without express authority. Offenders are liable to the payment 
of damages. All rights are reserved in the event of the grant of 
a patent or the registration of a utility model or design.

Rev. No. Rev.-Doc.-No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH
Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

BD-1019298-A-000
Rev.

Description Dimensions
( finished part )

Standard /
Source of supply Material RemarkDrawing No.

1 Baugruppe Trafo ohne äußere 
Abschirmung BD-1019225-A-000 (-)

1 Gehäusehälfte f.magn.äußere 
Abschirm.A SIS-DS070.020.000 (B) Ø400x248

1 Gehäusehälfte f.magn.äußere 
Abschirm.B SIS-DS070.080.000 (A) Ø400x248

8 Zylinderschraube M5x20 ISO 4762 A2

A28 Scheibe Ø5,3 ISO 7089

Sheet 1 of 1



1:2
(1:1)

(1:5)

1:5

340

15

3
9
2
.
2

2 68

A

A

1:1
7 6 5 2 1 4 11,13



Date

Drawn 27.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

24 Sechskantmutter M6 ISO 4032 A2

24 Scheibe Ø6,4 ISO 7089 A2

24 Gewindebolzen

1 Tragplatte B SIS3DS070.000.160 (B) 362x282x10 AlMgSiO, 5F22

24 Distanzrohr SIS3DS070.000.040 (3) Ø10x51

EN AW35754 (AlMg3)

SIS3DS070.000.100 (A) Ø5x78 1.4301 (X5CrNi18310)

1
Baugruppe magnetische 

Abschirmung

EN AW35754 (AlMg3)

1 Tragplatte A SIS3DS070.000.010 (A) 362x282x10

BD310192513A3000 (3)

1 Baugruppe Detektorhalterung BD310192193A3000 (3)

Drawing No.

BD�1019225�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

3

Rev.3Doc.3No. Name

For information
Description

Baugruppe Trafo o. aeussere Abschirmung

Date

Sheet 1 of 1



1:2
(1:1)

(1:5)

1:5

154

A

A

338

15

A-A10,22

31

4

3,23

4

9,23

8,23

30

4

1

3,23

4

3,23

4

3,23

11

15

14

B

BB-B
D

C

D

1:1
24 2131 23 2422

C

1:1
5 19 18 15 1 6 12

4726,27 25 13 2



Date

Drawn 27.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Ø309x6x12

Name

For information
Description

Baugruppe Detektorhalterung

Date

Drawing No.

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

.

Rev..Doc..No.

Name

Dorn, C.

BD�1019219�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

1 Baugruppe Current Transformer BD.1019230.P.000 (.)

BD.1019421.P.000 (.)

Ø330x1

PEEK oder POM

BD.1019237.P.000 (.)

4 Zentrierbolzen A BD.1019220.P.000 (.) 132x10x10
EN AW.6060 

(AlMgSi0,5)

1 Abstandsring

EN AW.5754 (AlMg3)

6 Zentrierbolzen B BD.1019221.P.000 (.) 132x10x10
EN AW.6060 

(AlMgSi0,5)

Ø313x6 PEEK oder POM

1 Tragring A BD.1019233.P.000 (.) Ø338x12

6 Klemmstück C BD.1019258.P.000 (.) 16x15x12 PEEK

1 Lagerring

EN AW.6060 

(AlMgSi0,5)

1 Klemmenbrett BD.1019259.P.000 (.) 60x50x1,5 EN AW.5754 (AlMg3)

BD.1019274.P.000 (.) 132x10x10
EN AW.6060 

(AlMgSi0,5)

1 Zentrierbolzen D BD.1019267.P.000 (.) 132x10x10

1 Abschirmblech el. BD.1019289.P.000 (.) Ø331x132
EN CW020A (Cu.PHC / 

SE.Cu)

1 Zentrierbolzen E

Stesalit (EP.GF)

1 Tragring B SIS.DS070.000.030 (A) Ø338x12 EN AW.5754 (AlMg3)

SIS.DS070.000.090 (.) Ø331x132
EN CW020A (Cu.PHC / 

SE.Cu)

2 Abschirmscheibe, magnetisch SIS.DS070.000.120 (A) A.80 Mu.Metall

24 Klemmstück B SIS.DS070.000.080 (.) 16x15x12

1 Abschirmblech,el.

Sheet 1 of 2



Date

Drawn 27.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

Name

For information
Description

Baugruppe Detektorhalterung

Date

Drawing No.

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

.

Rev..Doc..No.

Name

Dorn, C.

BD�1019219�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

Beistellung BI.Abteilung

SIS.DS070.050 (.) Bl. 1+4

1 Ringbandkern DT.M SIS.DS070.050 (.) Bl. 1+3

Beistellung BI.Abteilung2 Ringbandkern DT.L

A2

2 Zylinderschraube niedriger Kopf M3x6 DIN 7984 A2

M4x10 DIN 7984 A2

1 Zylinderschraube niedriger Kopf M4x6 DIN 7984

24 Senkschraube M5x20 ISO 10642 A2

13 Zylinderschraube niedriger Kopf

A2

6 Gewindestift M5x30 ISO 4027 A2

M5 ISO 4032 A2

6 Scheibe Ø5,3 ISO 7089

6 Sechskantmutter

Beistellung BI.Abteilung

Microtherm Typ R28

20 Lötstift Typ 12H2700

BNr.: 

R2811EP35T0347080
1 Temperaturwächter

Sheet 2 of 2



1:2
(1:1)

A

A

1:1

7

10

13

12



Date

Drawn 23.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

1 SMA Winkel*Kabelstecker Fa. Huber+Suhner

Type 23_SMA*50*0*

21/111_N
BNr. 22640101

1 Ringkern FCT*260*1.25*LD

Type 16_SMA*50*1*

1/111_N_1
BNr. 22660358

1 SMA*Buchse mit Flansch Fa. Huber+Suhner

Fa. Bergoz

4 Linsenkopfschraube M2,5x6 ISO 7045 A2

Drawing No.

BD�1019230�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

Name

Dorn, C.

For information
Description

Baugruppe Current Transformer

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

*

Rev.*Doc.*No. Date Name

Sheet 1 of 1



1:5
(1:1)

Rz25
+0.3

-0.3

-0.1Kanten

ISO 13715

3
0
9

A

A

A-A
B

12

6

B

1:1



1:1

Rz25

+0.3

-0.3

-0.1Kanten

ISO 13715

40

132 ±0.1

52 ±0.1

A A

2020

M
5

15

M
5

15

1
.
528

M4 M4

A-A

1
0

1 0



1:1

Rz25
+0.3

-0.3

-0.1Kanten

ISO 13715

132 ±0.1

A A

1
0

1 0

1
.
528

20 20

M
5

15

M
5

15

A-A



1:1

Rz25

+0.3

-0.3

-0.1Kanten

ISO 13715

30
(12x)

6
0

(
6
x
)

30
(12x)

2
7
0

30
0

338 ±0.1

3
2
0

6 (10x)

5 (10x)

1
6
0

R

0,2

A

A

2
5
8

2
6
0

-
0
.
1

-
0
.
2

3
1
0

-
0
.
1

-
0
.
2

1

10

5
.
5

M
5

M
5

1 2

A-A

DIN 74 Am5



Rz25

1:2
(1:1)

+0.3

-0.3

-0.1Kanten

ISO 13715

2
8
3

3
1
0
±
0
.
1

31
3
-0

.1

-0
.2

A

A

A-A B

4

6

B

1:1



Rz25

1:1

+0.3

-0.3

-0.1Kanten

ISO 13715

10 ±0.12.5

1
2

A

A

9

20

90

2.5

2
.
5

5

A-A

15

1
6

2



1:1

Rz25

+0.3

-0.3

-0.1Kanten

ISO 13715

2
0

±
0
.
1

5 10 (3x)

5.2 (20x)

5
1
0
(
4
x
)

5
0

A A

1
R

1
.
5

4.
3 (2

x)

1
55

10
±0

.5

40 ±0.5

A-A



1:1

Rz25
+0.3

-0.3

-0.1Kanten

ISO 13715

3020 ±0.1

4052 ±0.1

132 ±0.1

A A

1
0

1 0

(4x)M4

M
5

15

M
5

15

20 20
1
.
528

A-A



1:1

Rz25

+0.3

-0.3

-0.1Kanten

ISO 13715

3124.5 ±0.1

4052 ±0.1

132 ±0.1

A A

1
0

1 0

M
5

15M3

M4

M
5

15
M4

M3

1
.
528 3 32.5

2020

27

A-A



1:1
(2:1)

Rz25

+0.3

-0.3

-0.1Kanten

ISO 13715

330 -2

0.5

1
5

3
0

6
0

6
0

3
0

A

C

B

4.5 (2x)

4
0

±
0
.
2

5
2

±
0
.
2

1
3
2

-
0
.
5

6

0 .5

A

2:1

20

1
023 ±0.2

C

4
.
5

4
.
5

4
0
±
0
.
2

5
2
±
0
.
2

B











1:2
(1:1)

34
0

A

A

C

3

2

1

9,11

4

A-A B

1
7
6 B

1:1

C

1:1



Date

Drawn 23.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Name

For information
Description

Baugruppe magnetische Abschirmung

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

.

Rev..Doc..No. Date

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

BD�1019251�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

1
Deckel für magn. innere 

Abschirmung A
SIS.DS070.040.000 (A) Ø338x13 1.0503 (C45)

SIS.DS070.090.000 (A) Ø338x13 1.0503 (C45)

1
Halbschale für magn. innere 

Abschirmung
BD.1019383.A.000 (.) Ø340x176x1 1.0503 (C45)

1
Deckel für magn. innere 

Abschirmung B

1
Halbschale fuer magn. innere 

Abschirmung
SIS.DS070.030.000 (.) Ø340x176x1 1.0503 (C45)

A212 Schraube Rundkopf M4x10 ISO 7380

12 Sechskantmutter M4 ISO 4032 A2

Sheet 1 of 1







1:2
(2:1)

Rz 25
+0.3

-0.3

-0.1Kanten

ISO 13715

1

1
5

6
0

6
0

30

3
3
8

-
2

B

D

45

66

176

A A

C

A

130 -1 23
+0.5

1
4

A-A

6

4
.
5

4.5

C

2:1

45

20

1
0

B

2

10

24

D

2:1

punktgeschweisst

1

2

3



Date

Drawn 27.01.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Date Name

For information
Description

Halbschale fuer magn. innere Abschirmung

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

.

Rev..Doc..No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

Name

Dorn, C.

Drawing No.

BD�1019383�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

1 Halbzylinder Ø340x176x1 Mu.Metall, geglüht

176x24x1 Mu.Metall, geglüht

1 Anschweißstreifen 130mm 130x24x1 Mu.Metall, geglüht

1 Anschweißstreifen 176mm

Sheet 1 of 1



















Date

Drawn 06.02.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Rev.-Doc.-No. Date Name

STATUS
Description

Haltewinkel vorn

Copying of this Document, and giving it to others and the use 
of communication of the contents thereof, are forbidden 
without express authority. Offenders are liable to the payment 
of damages. All rights are reserved in the event of the grant of 
a patent or the registration of a utility model or design.

Rev. No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH
Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

Drawing No.

BD-1019602-A-000
Rev.

Description Dimensions
( finished part )

Standard /
Source of supply Material RemarkDrawing No.

1 Haltewinkel vorn 
Befestigungsschenkel 130x74x6 1.4541 (X6CrNiTi18-10)

130x34x6 1.4541 (X6CrNiTi18-10)1 Haltewinkel vorn Auflage

Sheet 1 of 1



1:1

Rz25

+0.3

-0.3

-0.1Kanten

ISO 13715

8.4 (3x)

(5x)M8

50 ±0.1

1
7

1 70

50 ±0.1

50 ±0.1

1
2 2
0

A

A

1

2

3

6
9

2
9

6

6

6

42

A-A

geschweißt



Date

Drawn 05.03.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

1 Haltewinkel Steg

1 Haltewinkel Auflageseite 170x34x6 1.4541 (X6CrNiTi18010)

170x42x6 1.4541 (X6CrNiTi18010)

1 Haltewinkel Trafoseite 170x29x6 1.4541 (X6CrNiTi18010)

Drawing No.

BD�1020168�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

Name

Hartung, M.

For information

Description

Haltewinkel

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

0

Rev.0Doc.0No. Date Name

Sheet 1 of 1





1:1

Rz25
+0.3

-0.3

-0.1Kanten

ISO 13715

1
5
3

1
4
0

30

90

80

1
7
4
.
6
4

(
)

1 70

32 30 32

1
4
5
.
9

9
.
1

1
1
5

1
2

2
0

4 0 40 40

50

50 50

8.4 (3x)

0,2

0,4

A

A

6
.
6
(
4
x
)

2
5
(
4
x
)

6

A-A

DIN 74-A 8 (2x)


	Seiten aus BD-1019426-A-000-0_Strahltrafo komplett ESR-DZ 1450 15-03-06.pdf
	S_BD-1019426-A-000-0_Strahltrafo komplett ESR-DZ 1450 15-03-06.pdf
	STD-000-C82.001.000-0_Strahlrohr 15-03-09.pdf
	Ganzseitiges Foto.pdf
	S_STD-000-C82.001.000-0_Strahlrohr 15-03-09.pdf
	STD-000-C82.002.000-0_Isolierrohr mit Anschweißenden 15-03-09.pdf
	Ganzseitiges Foto.pdf
	S_STD-000-C82.002.000-0_Isolierrohr mit Anschweißenden 15-03-09.pdf

	STD-000-C50.001.002-0_Schweissflansch drehbar 15-03-09.pdf
	STD-000-C50.001.004-0_Schweissflansch fest 15-03-09.pdf
	STD-000-C82.001.002-0_Haltelasche 15-03-09.pdf

	BD-1019298-A-000-0 Strahltransformator ESR-DT 1050 15-03-06.pdf
	Seiten aus BD-1019298-A-000-0 Strahltransformator ESR-DT 1050 15-03-06.pdf
	S_BD-1019298-A-000-0 Strahltransformator ESR-DT 1050 15-03-06.pdf
	BD-1019225-A-000-0_Baugruppe Trafo o. aeussere Abschirmung 15-03-06.pdf
	Seiten aus BD-1019225-A-000-0_Baugruppe Trafo o. aeussere Abschirmung 15-03-06.pdf
	S_BD-1019225-A-000-0_Baugruppe Trafo o. aeussere Abschirmung 15-03-06.pdf
	BD-1019219-A-000-0_Baugruppe Detektorhalterung 15-03-06.pdf
	1019219_K5D_000_-_1.pdf
	S_BD-1019219-A-000-0_Baugruppe Detektorhalterung 15-03-06.pdf
	BD-1019230-A-000-0_Baugruppe Current Transformer 15-03-06.pdf
	1019230_K5D_000_-_1.pdf
	S_BD-1019230-A-000-0_Baugruppe Current Transformer 15-03-06.pdf

	BD-1019421-P-000-0_Abstandsring.pdf
	BD-1019220-P-000-0_Zentrierbolzen A 15-03-06.pdf
	BD-1019221-P-000-0_Zentrierbolzen B 15-03-06.pdf
	BD-1019233-P-000-0_Tragring A 15-03-06.pdf
	BD-1019237-P-000-0_Lagerring 15-03-06.pdf
	BD-1019258-P-000-0_Klemmstueck C 15-03-06.pdf
	BD-1019259-P-000-0_Klemmenbrett 15-03-06.pdf
	BD-1019267-P-000-0_Zentrierbolzen D 15-03-06.pdf
	BD-1019274-P-000-0_Zentrierbolzen E 15-03-06.pdf
	BD-1019289-P-000-0_Abschirmblech el. 15-03-06.pdf
	SIS-DS070.000.030-A_Tragring B 15-03-06.pdf
	SIS-DS070.000.080-0_Klemmstück B 15-03-06.pdf
	SIS-DS070.000.090-0_Abschirmblech, el. 15-03-06.pdf
	SIS-DS070.000.120-A_Abschirmscheibe, magnetisch 15-03-06.pdf

	BD-1019251-A-000-0_Baugruppe magnetische Abschirmung 15-03-06.pdf
	1019251_K5D_000_-_1.pdf
	S_BD-1019251-A-000-0_Baugruppe magnetische Abschirmung 15-03-06.pdf
	SIS-DS070.040.000-A_Deckel für magn. innere Abschirmung A 15-03-06.pdf
	SIS-DS070.090.000-A_Deckel für magn. innere Abschirmung B 15-03-06.pdf
	BD-1019383-A-000-0_Halbschale fuer magn. innere Abschirmung 15-03-06.pdf
	1019383_K5D_000_-_1.pdf
	S_BD-1019383-A-000-0_Halbschale fuer magn. innere Abschirmung 15-03-06.pdf

	SIS-DS070.030.000-0_Halbschale fuer magn. innere Abschirmung 15-03-06.pdf

	SIS-DS070.000.010-A_Tragplatte A 15-03-06.pdf
	SIS-DS070.000.040-0_Distanzrohr 15-03-06.pdf
	SIS-DS070.000.100-A_Gewindebolzen 15-03-06.pdf
	SIS-DS070.000.160-B_Tragplatte B 15-03-06.pdf

	SIS-DS070.020.000-B_Gehäusehälfte f.magn.äußere Abschirm.A 15-03-06.pdf
	SIS-DS070.080.000-A_Gehäusehälfte f.magn.äußere Abschirm.B 15-03-06.pdf

	BD-1019602-A-000-0 Haltewinkel vorn 15-03-06.pdf
	1019602_K5D_000_-.pdf
	S_BD-1019602-A-000-0 Haltewinkel vorn 15-03-06.pdf

	BD-1020168-A-000-0_Haltewinkel 15-03-06.pdf
	1020168_K5D_000_-_1.pdf
	S_BD-1020168-A-000-0_Haltewinkel 15-03-06.pdf

	SIS-DS070.070.000-A_Halterung B 15-03-06.pdf
	BD-1019570-P-000-0_Halterung fuer ESR-Strahltrafo 15-03-09.pdf

